
  

 
 

TNPSC GROUP I, II & IIA PRELIM 

CLEAR, TRANSPARENT, INDIVIDUALIZE ORIENTATION 

MENTAL ABILITY – COURSE CONTENT 
 

GROUP II / IIA = 25 QUESTIONS 

 
UNIT-X: APTITUDE AND MENTAL ABILITY 

i. Simplification – Percentage - Highest Common Factor (HCF) - Lowest 
Common Multiple (LCM).  
 

ii. Ratio and Proportion. 
 

iii. Simple interest - Compound interest - Area - Volume – Time and 
Work. 

 
iv. Logical Reasoning - Puzzles - Dice - Visual Reasoning – Alpha 

numeric Reasoning – Number Series. 
 
myF X – jpwdwpTk; kdf;fzf;F Ez;zwpTk;  

i. RUf;Fjy; kPg;ngW nghJf; fhuzp (HCF) – tpOf;fhL – kPr;rpW 
nghJ klq;F (LCM) 
 

ii. tpfpjk; kw;Wk; tpfpjhrhuk; 
 

iii. jdptl;b> $l;Ltl;b – gug;G – nfhs;ssT – fhyk; kw;Wk; Ntiy 
 

iv. jUf;ff; fhuztpay; - Gjph;fs; - gfil – fhl;rpf; fhuztpay; - vz; 
vOj;Jf; fhuztpay; - vz; thpir 
 
 

  



  

 
 

TNPSC ORIGINAL QUESTION  
TNPSC GROUP I PRELIMINARY EXAM 03.01.2021 

 
 

1. Simplify: 1 3
5

2 4
  of 8

9
 

a. 1
6

4
  b. 1

6
6

 c. 8
6

9
  d. 4

6
8

  e. Answer not known 

RUf;Ff: 1 3
5

2 4
  ,d; 8

9
 

a. 1
6

4
  b. 1

6
6

 c. 8
6

9
  d. 4

6
8

  e. tpil njhpatpy;iy  

 

2. Simplify: 4 3 5 30 12 27

3 2 3 12 9 16


      

a. 53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. Answer not known 

RUf;Ff: 4 3 5 30 12 27

3 2 3 12 9 16


      

a. 53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. tpil njhpatpy;iy  

 

 
ASSISTANT AGRICULTURAL OFFICER (17.04.2021) 

 
1. The value of 

8.94 8.94 8.94 3.56 3.56 3.56

8.94 8.94 8.94 3.56 3.56 3.56

    

    
 is 

a. 0.538  b. 5.38  c. 0.0538  d. 53.8 
e. Answer not known 
8.94 8.94 8.94 3.56 3.56 3.56

8.94 8.94 8.94 3.56 3.56 3.56

    

    
d; kjpg;G vd;d? 

a. 0.538  b. 5.38  c. 0.0538  d. 53.8 
e. tpil njhpatpy;iy 

 

2. The value of 
4 3 5 30

3 2 3 12

      
      
    

 is 

a. 
3

1
6

  b. 
13

6
  c. 

4

3
  d. 

4

3


  e. Answer not known 

4 3 5 30

3 2 3 12

      
      
    

d; kjpg;G 

a. 
3

1
6

  b. 
13

6
  c. 

4

3
  d. 

4

3



  
e. tpil njhpatpy;iy

 

 


